
qm= ;+= of]hgfsf] gfd :yfg &]ufgf ljlgof]hg /sd ?= s}lkmot

s
1 s[lif ljsf; sfo{qmd pGgt lap, lahg ldlgls^ 

ljt/)f,pGgt lap, dfudf cfwfl/t sfo{qmd s[[lif  l;rfO{ 
sfo{qmd 

j*f g+= 4, vfgL%fk 300000.00

2 kz' ;]jf sfo{qmd j*f g+= 4, vfgL%fk 200000.00
s_ cf}iflw vl/b sfo{qmd 

v_ df;' hGo tyf b'Uw Joj;flos ljkGg ju{nfO{ k|of];fxg 
dfudf / pTkfbgdf cfwfl/t sfo{qmd 

u_ tf}n d]l;g vl/b sfo{qmd 

hDdf M 500000.00
v

1 /fDbL k|f=la=/fDbL #f^ zf}rfno dd{t j*f g+= 4, vfgL%fk 100000.00
2 vfg]kfgL ^+sL lgdf{)f -sd]/]kfgL_ j*f g+= 4, vfgL%fk 100000.00
3 lxdfno cf=lj= vfgL%fk vf=kf= ^+sL lgdf{)f j*f g+= 4, vfgL%fk 100000.00
4 vfgL%fk :jf:Yo rf}sL Joj:yfkg - :jf:Yo sfo{qmd _ j*f g+= 4, vfgL%fk 150000.00
5 uf]afGbL cfdf ;d'x ejg lgdf{)f j*f g+= 4, vfgL%fk 200000.00
6 /fd df=lj=dn]· ejg sIff sf]&f Joj:yfkg j*f g+= 4, vfgL%fk 100000.00
7 u+ufb]lj k|f=lj= efn]af; sIffsf]&f Joj:yfkg j*f g+= 4, vfgL%fk 100000.00
8 ;fd'bflos ejg dd{t tyf af^f] ;'wf/ ;]/f j*f g+= 4, vfgL%fk 100000.00
9 lkTn'·%fk ;fd'bflos ejg lgdf{)f j*f g+= 4, vfgL%fk 300000.00

10 v]ns'b d}bfg lgdf{)f dn]· j*f g+= 4, vfgL%fk 200000.00
hDdf M 1450000.00

1 dlxnf sfo{qmd tkm{ -ljkGg ju{ cfo–cfh{g tyf afv|f ljt/)f_ j*f g+= 4, vfgL%fk 50000.00

2 cflbjf;L hghftL tkm{ -dfudf cfwfl/t +_ j*f g+= 4, vfgL%fk 50000.00

3 cflbjf;L hghftL tkm{ -;fem]*f“*f dlxnf ;r]tgf ejgsf] 
Joj:yfkg +_ 

j*f g+= 4, vfgL%fk 50000.00

4 ckf· tkm{ -;Ddfg_ j*f g+= 4, vfgL%fk 50000.00
5 blnt sfo{qmd tkm{ -a+u'/ kfng _ j*f g+= 4, vfgL%fk 50000.00
6 h]i&gful/s sfo{qmd tkm{ -;Ddfg sfo{qmd_ j*f g+= 4, vfgL%fk 50000.00
7 o'jf sfo{qmd tkm{ -v]ns'b,_ j*f g+= 4, vfgL%fk 50000.00
8 afnaflnsf sfo{qmd j*f g+= 4, vfgL%fk 50000.00

hDdf M 400000.00

 s'n hDdf M 1850000.00

u

1 dx%fk ltv'd -('s('s]_ df]=af :t/f]pGgtL j*f g+= 4, vfgL%fk 1000000.00
2 u'*'jfv]f]nf–n'·lb, ltg%fuf ltv'd df]=af lgdf{)f j*f g+= 4, vfgL%fk 500000.00
3 j*f sfof{no ejg lgdf{)f j*f g+= 4, vfgL%fk 500000.00

cGo -nlIft ju{_ M

augf;sfnL ufp“kflnsf
4 g+= j*f sfof{no, vfgL%fk, kfNkf

cf= j= @)&&÷&* sf nflu j8f ;ldltaf6 kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M

k"jf{wf/ ljsf; If]q tk{m M



4 ;*s ;/;kmfO{ j*f g+= 4, vfgL%fk 300000.00
5 efn]af;, a]]n^f]n, lkknv/s, bnf{dL ^f]n df]= af lgdf{)f j*f g+= 4, vfgL%fk 300000.00
6 dn]· a:ofn ufp“ df]=af= :t/f]pGgtL j*f g+= 4, vfgL%fk 100000.00
7 dn]· e~of·kf/L df]=af lgdf{)f j*f g+= 4, vfgL%fk 100000.00
8 vfgL%fk a'$yk ;'wf/ j*f g+= 4, vfgL%fk 150000.00
9 vfgL%fk l;/fg df]=af= (nfO{ j*f g+= 4, vfgL%fk 150000.00
10 d]nË 8fF8f aufny/ df]=af=;f]lnË j*f g+= 4, vfgL%fk 100000.00

hDdf M 3200000.00

#

1 sfof{no Joj:yfkg j*f g+= 4, vfgL%fk 50000.00

hDdf M 50000.00

s"n hDdf 5600000.00

;+3, k|b]z tyf augf;sfnL ufp“kflnsfdf dfu ul/g] of]hgf M

! vfgL5fk :jf:Yo rf}sL ejg lg0ff{y ah]6

@ gfo/ rf}kf/L vfgL5fk /fDbL :t/F]pGgtL df]=af

# vgL5fk j8f sfof{no ejg lgdf{0f 

$ efn]af; vf=kf= 6+sL tyf l;+rfO{ 6+sL lgdf{0f 

% xf]d kfO{k yfg –@) hf]/ 

^ tf/ hfnL –!%) yfg 
& bn{d8f“8f, u'8'jfvf]nf, dn]‚ /fDbL df]=af :t/f]pGGtL 
* /fDbL –gfo/ df]=af :t/f]pGgtL 
( ;]/f lnkm\6L‚ vf=kf of]hgf 
!) dn]‚ lnkm\6L‚ vf=kf= of]hgf 
!! u'8'jfvf]nf ltG5fufvf]nf emf]=k' lgdf{0f 
!@ cfo{e~Hof‚ 3f;]{ d5fk vfgL5fk df]=af :t/f]pGgtL 

;+:yfut ljsf; tyf ;]jf k|jfx / ;'zf;g If]q tk{m M


